A0133 S.Y.B.A.(CHOICE BASE) SEMESTER 111/ A3981 ECONOMICS : PAPER ||

Q.P.Code: 30803

Time : 03 Hours , ‘ Marks : 100

N.B. i) All questions are compulsory.
if) Each question carries 20 Marks.
iiiy Draw diagrams wherever necessary.
iv) Use of simple calculator is allowed.

Q.1) Attempt any two of the following.
a)Explain the following terms:
1) Strong and weak ordering preferences ii) Completeness iii)Tansitivity
b)What are the properties of indiference curva?
¢)The table given below shows the marginal utility derived by Kim from two goods viz:
apple and banana

Quantity MU of apple | MU of banana
1 70 40
2 60 30
3 50 ; 20
4 40 15
5 30 , 10
6 20 05 y

The price of a apple is Rs.4 and of banana is Rs.2. She has an income of Rs.20 to be spent
on the two goods.
From the above table answer the following:
1)Given her income, what quantities of both goods will Kim purchase to maximize her utility?
if) What is the maximum total utility obtained from the two goods?
1ii) Explain the law of equi-marginal utility.
Q.2) Attempt any two of the following,
a) What is production function? Digramatically explain the law of variable proportion.
b) Explain the profit maximisation of firm with least cost combination of factors.
¢) Explain the factor demand curve with the help of table and diagram.
Q.3) Attempt any two of the following.
a) Graphically explain the relationship between T otal, Average & Marginal cost.
b) Distinguish between following cost concepts:
i)Imlicit and Explicit ii)Sunk and fixed iii)Historical and Replacement
¢)Given theTotal Fixed Cost as Rs 200,calculate the TC, AFC, AVC and MC. Plot the
table graphically and explain the behavior of all cost concepts diagramatically.

Units of output I 12 (3 14 |5 6 7 8
TVC 25 140]50(70] 100 | 145|205 | 285
Q.4) Attempt any two of the following. ‘

a)What are the characteristics of a competitive market?

b)Explain the short run equilibrium of a firm under perfect competition.

c)Explain the concept of consumer’s surplus with the help of diagram.
Q.5) Write a short note on any two of the following.

a)What is substitution effect?

b)Explain the properties of isoquants.

c)Derive the long run average cost curve.

d)What is producer’s surplus?
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